Puissances de Dix (D)

Trouvez chaque produit ou quotient.

10+ 0,01 = 42 x 10 =
97 X 10 = 19 +-10 =
33 x1000= 70 X 0,001 =
45 +-100 = 18 x 1000 =
73 +0,01 = 27 +1000 =
100 x 10 = 50+100=
62 +0,1= 65 %X 10 =
11x1= 85 +0,01=
58 - 10 = 50 x1000=
82x%0,1= 3 X100 =
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Puissances de Dix (D) Solutions

Trouvez chaque produit ou quotient.

10+ 0,01=1000

97 x 10 =970

33 x1000=33000

45 +100=10,45

73 +0,01=7300

100 x10=1000

62+ 0,1 =620

11x1=11

58 +10=15,8

82 x0,1=28,2

42 X 10 =420

19+-10=19

70 x 0,001 =0,07

18 x1000=18000

27 +1000=0,027

50-+100=0,5

65 X 10 =650

85-+0,01=8500

50 x1000=50000

3 x 100 =300
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